The phenomenon of slow extension of
materials 1i.e., iIincreasing with the under
constant load is known as-
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For a certain material Poisson's ratio is
0.25.Then the ratio of modulus of elasticity to
the modulus of rigidity for the material is
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For a . certain. material Poisson's ratio is
0.25.Then the ratio of modulus of elasticity to
the bulk modulus for the material is
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The Poisson's ratio for steel varies from-
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Two circular mild steel bars A and B of equal
lengths la have _diameters da = 2 cm and dg =
3cm. Each subjected to a tensile load of
magnitude P. The ratio of the elongations of
the bars lA/lB is-
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A rod of square section of side D at one end
tapers to a square section of side d at the other
end. If its length is'L; the elongation produced
by an axial load P is given by
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A bar is made of different materials to have a
composite section and carries an external
load.Then
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i gerat 3 fapfaaen= gl

Op 2 : the sum of-the individual loads carried
by different materials.is equal to the external
load
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iIf a denotes the| co-efficient of Ilinear
expansion,T the' rise iIin temperature the
thermal stressds given by
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When a rectangular bar of length |, breadth b
and thicknessP, then volumetric strain is-
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where: € = Linear strain and,
1/m = Poisson's ratio
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A steel bar is‘rigidity ‘held at two ends. The
temperature of the/ar iIs allowed to rise by
80°C. The stress produced in the bar will be-
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The relation between young's modulus (E) and
bulk modulus (K) is given by-
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A rod is enclosed centrally in a tube and the
assembly is tightened by rigid washers. If the
assembly is /subjected to' a compressive
load,then-
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Op 1 : rod is under compression
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Op 2 : tube iIsunder compression
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Op 3 both rod and tube are under
compression

Op 4 : tube is under tension and rod is under
compression
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A steel bar of 5 mm is heated from 15°C to 40°C
and it is free to expand. The bar will induce-
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A bar of copper and steel form a composite
system, which«is heated to a temperature
of40°C The stress.induced In the copper bar
will be-
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